Knowledge Organiser
DIVIDING AN AMOUNT INTO RATIOS

7 M mm—~

Key Concepts woman has £400. She is going to split her | There are boys and girls at a party in the
A ¢ can be divided int money between her two children in the ratio 5:2.
gir\]/;:nr(;:r; can be dividedinto 3 ratio 2:3. How much does each child There are 15 more boys than girls.
receive? Calculate the number of people at the
Red : Green 2 3 party.
1:3 No. of boxes No. of extra 5.2
2+3 80 ' :
(243) \ 80 Boxes (5-2)
For every 1 red there are 3 greens. 5 5
400+5 [80] [0 \
A ratio can be converted into - 5 5
fractions. =80 £160 30 15+3 —ta == - -
=5 5
Red : Green £240 5
1:3
Child 1 receives £160 and Child 2 receives 7 x5 ?
1 3
= are red and = are green. £240. Exam |es
! ! \_ = 35 people P
Mathswatch clip numbers (- A 1)  Ann made some cakes. She made vanilla cakes and chocolate cakes in the ratio 2:9. What fraction of the cakes were
. . chocolate?
Introduction to ratio: 38 Key Words 2)  Share £25 in the ratio 7:3
Using ratio for recipe questions: Ratio 3) Katy and Becky share some money in the ratio 2:1. Katy receives £10 more than Becky. How much do they each receive?
' 4 aire and John share some money in the ratio 3:2. Claire receives £18. How much does John receive?
39 o ) d dJohn sh h 3:2.cl £18 hd h ?
Divide
Sharing using ratio: 106 Pa rts
Ratio, Fractions and Graphs: 107 \ y ¢T3 (v 013 ‘023 (€ 0543 05°L1F (¢ 1—61 (T SYIMSNV




Knowledge Organiser
RATIO AND DIRECT PROPORTION

\- %
E The recipe shows the

Key Concepts If 20 apples weigh 600g. How much would Xamples ingredients needed to make
To calculate the value for a single item 28 apples weigh? 10 Flapjacks.
we can use the unitary method. How much of each will be
600 + 20 = 30g weight of 1 apple needed to make 25 flapjacks?
When working with best value in 28 x 30 = 840g
moneta ry terms we use: Ingredients for 10 Flapjacks gf)ethlcz)d 18 Unitary 20510=3
Price per unit = price Box A has 8 fish fingers costing £1.40. 80 g rolled oats g x 25 =_200g 3 x 25 = 75g
quantity Box B has 20 fish fingers costing £ 3.40. 60 g butter
Which box is the better value? 30 m/ golden syrup 60+10=6 36+10=3.6
In recipe terms we use: 36 g light brown sugar 6 x 25 = 150g 3.6 x 25 = 90g
= ﬂ Method 2: 5 flapjacks
B 20 30+2=15
A +2=4 "o
Weiaht it = M =£0.17 80 B 0 15 x 5 = 75g
ght per unit quantity 40 x 5 = 200g
Therefore Box B is better value as each fish 60+ =30 36+2=18
Qinger costs less. 30 x 5 = 150g 18 x 5 =90g )
( ) 2) Packet A has 10 toilet rolls costing £3.50.
Mathswatch clip numbers K Ingredients 1) How much will we Packet B has 12 toilet rolls costing £3.60
ey Words - -60.
Introduction to proportion: 42 y . to make 16 gingerbread men n.eed to make 24 Which is better value for money?
Unita ry 180 g flour gingerbread men?
Best Value jﬁg %ff: 3) If 15 oranges weigh 300g. What will 25 oranges weigh?
30 g sugar
Proportion
Quantity
\ ) 3005 (¢ 1104 42d dO€g g 39%2ed (T 488ns 8y 4enng 3591 4a3uid 809 Unojy 8047 (T SYIMSNY




Knowledge Organiser A
- DIRECT AND INVERSE PROPORTION
Key Concepts Examples :
Variables are directly proportional Direct proportion: Inverse proportion: .
when =5

Value of A 32 | P 56 20 | 72
the ratio is constant between the

. Value of B 20 (30|35 | R |45 x2
quantities.
5
. . . i : = == Value of A 10|20 | 14 R 28
Variables are inversely proportional Ratio constant: 20 +32 =2
when one quantity increases in ; ValueofB |14 | P | 10 | 70 | 5
proportion to the other decreasing. From A to B we will multiply by <.

From B to A we will divide byg .

P=30+>=48 R=20 P=7 X5 R=2
\ x> =125 ),
é ) .
Mathswatch clip numbers Key Words Complete each te.lble. _
: 1) Direct proportion 2) Inverse proportion
| . - Direct
ntroduction to proportion: 42
Inverse ValueofA | 5| P | 22 ValueofA | 4 | P | 18
Proportion
F,) . Value of B 9 | 28.8 Q Value of B 9 3 Q
Divide
Multiply
Constant 2=0CT=d (2 96€=0 9T =d (T SYIMSNV
\_ )






